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Lesson 8-3

Example 4: Write the equations of the lines in slope-intercept form
that pass through the points.

y=mx +b

J Step 1: Find the
slope '31 - :l

Ky =X,

if Step 2: Substitute
the slope and one
of the points into
slope-intercept
form

\/ Step 3: Solve for b

\/ Step 4: Write the

equation in slo|f-?-
intercept form
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Example 3: Writing Slope-Intercept Form

Every time you buy a skin on Fort Nite, you h ;50. Your
aunt gives you a gift card for $25. The equatioz; = -2.5X # 25}epresents
how much money is left on the card after x purchases. Graph the
equation, and explain the meaning of the slope and y-intercept.
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w= 9% & \'dO
W = 255X TO

Alex purchases a gym membership for $12 per month. Each time he goes to the
gym, he has to pay %The equation y=3x + 12 represents how much he has to pay
at the gym for x number of visits. Graph the equation and explain the meaning of
the s_,lfgﬂe and y-intercept.

Noah decides not to purchase a gym membership, so he has to pay $6 each time
he goes to the gym. The l-_'quatiun Y= 6x represents how much he must pay at the
gym for x number of visits. Graph the equation and explain the meaning of the

slope and y-intercept. &3 = 00X ¥ O
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At what point in time have they spent the same amount of money?
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Iy

stondawrd form
Definition Example
K linear &uation Qs + Ty =35
e ke x By = C

Example 1: Find the x- and y-intercepts of each of the following lines.

Ix =12 Y =2

| —

I Do | We Do You Do
3IX + 4y =12 2X + 5y =12 6x - 4y =16
it yt | Xt yind | v
3=0 xIo | y:0 X -

P12 Py )z 2x D02 Bersyl X 30 = I,

X = 3‘3 X = 37
2
Tﬁ? Yy=23 X:Zﬂ
(6,0) b
[o,z;gj X =72p
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Example 2: Use the x- and y-intercepts to graph each equation.

I Do

N

2X+YV=3
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We Do
) Ix¥ Sy=|5
Xt 2X4y=3

r~3
X
-+
n
W
-

_“’)}__"&. -
7-6-5-4-3-2-19 1234567 80

S R
b Wwhkh=s = owfs v o~

Y=3  (9,3)

L
X

You Do

S 4x-3y=9

YA

= kW B U O
P il T

-
L

Yo -34u=9 T ois43240

-

----------

123456782910

\
W)
(W
\!
5
LV, [ T

X




M8 8-3 Notes.GWB - 7/8 - Wed Feb 19 2020 10:03:38

Example 2: Convert from standard form

slope-intercept

I Do | We Do
Ax 1-133 c
19, K@,
p &Y %3—~?.x +|%
=N
y= mx+D W =mx o
We Do | You Do
;ﬁi ?1-0‘|)( 7X — 12y = 24
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Euumple 2: Convert from slope-intercept form to standard form.

vd {om  CannoT lrutrc fra. thinng
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q X+ 3 (y=—x 6)
2y = 2 dx 23 Hy -—‘#xg.x BNTRP
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Ax +By =C

— wWeDo | You Do
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